
 

QTS-04 – UNIT-4.[Geography of World and India] 

GS 



 

1.In which of the following states, the 

Sharavati Project is located? 
[A] Andhra Pradesh 

[B] Karnataka 

[C] Tamil Nadu 

[D] Madhya Pradesh 

2.Luni River, which originates in the 

Pushkar Valley of Aravalli range ends in 

which among the following? 

[A] As a tributary to Sabarmati 

[B] In the Rann of Katch 

[C] In the Arabian Sea 

[D] Near Mount Abu 

3.What is the approximate ratio of parts 

of Indian Coast belonging to Peninsular 

India to that belonging to Andaman, 

Nicobar, and Lakshadweep Islands? 

[A] 2:1  [B] 2.5:1 

[C] 3:1  [D] 3.5:1 

4.Hirakud Dam is located on which 

river? 

[A] Rihand  [B] Mahanadi 

[C] Subarnrekha [D] Bhargavi 

5.Which is the only state in India 

producing muga silk? 

[A] Assam  [B] Bihar 

[C] Orissa  [D] West Bengal 

6.South Talpatti Island” has been a 

disputed territory between which of the 

following neighbors? 

[A] India Myanmar  [B] India Bangladesh 

[C] India Pakistan     [D] India Sri Lanka 

7.Phawngpui in Mizoram is also known 

as which of the following? 

[A] Black mountain 

[B] Blue Mountain 

[C] Yellow Mountain 

[D] Mizo Hills 

8.Which among the following is 

sometimes known as “Third Pole“? 

[A] Hudson Highlands 

[B] Rocky Mountains 

[C] Severny Island ice cap 

[D] Siachen Glacier 

 

1-fuEufyf[kr esa ls fdl jkT; esa] 'kjkorh 
ifj;kstuk fLFkr gS\ 
¼,½ vkaèkz çns'k ¼ch½ dukZVd 

¼lh½ rfeyukMq ¼Mh½ eè; çns'k 

2- ywuh unh] tks vjkoyh Js.kh dh iq"dj 
?kkVh ls fudyrh gS] fuEufyf[kr esa ls 
fdlesa lekIr gksrh gS\ 
¼,½ lkcjerh dh lgk;d unh ds :i esa 

¼ch½ dPN ds j.k esa 

¼lh½ vjc lkxj esa 

¼Mh½ ekmaV vkcw ds ikl 

3- çk;}hih; Hkkjr ls lacafèkr Hkkjrh; rV 
ds fgLlksa dk vaMeku] fudksckj vkSj 
y{k}hi }hi lewg ls lacafèkr Hkkxksa dk 
vuqekfur vuqikr D;k gS\ 
¼,½ 2%1  ¼ch½ 2-5%1 

¼lh½ 3%1  ¼Mh½ 3-5%1 

4-ghjkdqaM ckaèk fdl unh ij fLFkr gS\ 
¼,½ fjgan  ¼ch½ egkunh 

¼lh½ lqo.kZjs[kk ¼Mh½ HkkxZoh 

5-eqxk js'ke dk mRiknu djus okyk Hkkjr 
dk ,dek= jkT; dkSu lk gS\ 
¼,½ vle  ¼ch½ fcgkj 

¼lh½ mM+hlk  ¼Mh½ if'pe caxky 

6-nf{k.k ryiêh }hi* fuEufyf[kr esa ls 
fdl iM+kslh ds chp ,d fookfnr {ks= jgk 
gS\ 
¼,½ Hkkjr E;kaekj 

¼ch½ Hkkjr ckaXykns'k 

¼lh½ Hkkjr ikfdLrku 

¼Mh½ Hkkjr Jhyadk 

7-fetksje esa QkoaxiqÃ dks fuEufyf[kr esa 
ls fdl uke ls Hkh tkuk tkrk gS\ 
¼,½ dkyk igkM+ 

¼ch½ Cyw ekmaVsu 

¼lh½ ihyk ioZr 

¼Mh½ fetks fgYl 

8-fuEufyf[kr esa ls fdls dHkh&dHkh 
Þrhljk èkzqoÞ ds :i esa tkuk tkrk gS\ 
¼,½ gMlu gkbySaM~l 

¼ch½ j‚dh ioZr 

¼lh½ lsosuÊ }hi cQZ Vksih 

¼Mh½ fl;kfpu Xysf'k;j 



 

9.Which of the following cities of India is 

located at the respective latitude and 

longitude of 28.38° N and 77.12° E? 

[A] Delhi  [B] Kolkata 

[C] Jaipur  [D] Ranchi 

10.Which among the following matches 

of type of earthquake-resistant and their 

place are correct? 
1. Brick-nogged wood frame- Himachal 

Pradesh 

2. Dhajji- Jammu & Kashmir 

3. Bhongas- Gujarat 

4. Ekra- Assam 

Choose the correct option from the 

codes given below : 
[A] 1 & 4  [B] 1, 2 & 3 

[C] 1, 3 & 4  [D] 1, 2, 3 & 4 

11.Which among the following statement 

is/are correct? 

1. In India, the Himalayas are spread over 

five States only 

2. The Western Ghats are spread over five 

States only  

3. Pulicat Lake is spread over two States 

only 

Choose the correct option from the 

codes given below: 
[A] 1 only  [B] 3 only 

[C] 1 & 2  [D] 1, 2 & 3 

12.Which among the following 

statements are correct? 
1. Coromandel coast formed due to 

emergence 

2. Malabar coast formed due to emergence 

3. Konkan coast formed due to 

submergence 

Choose the correct option from the 

codes given below : 

[A] 1 & 2  [B] 1 & 3 

[C] 2 & 3  [D] 1, 2 & 3 

13.The Mt. Everest is situated in which 

of the following region? 

[A] Nepal Himalayas 

[B] Assam Himalayas 

[C] Punjab Himalayas 

[D] Kashmir Haimalayas 

9-Hkkjr dk fuEufyf[kr esa ls dkSu lk 
'kgj lacafèkr v{kka'k vkSj ns'kkarj 28-38° 
mÙkj vkSj 77-12° iwoZ ij fLFkr gS\ 
¼,½ fnYyh  ¼ch½ dksydkrk 

¼lh½ t;iqj  ¼Mh½ jkaph 

10-fuEufyf[kr esa ls dkSu lk Hkwdai 
çfrjksèkh çdkj ds esy vkSj muds LFkku 
lgh gSa\ 
1- b±V&uqdhys ydM+h ds Ýse& fgekpy çns'k 

2- èkTth& tEew vkSj d'ehj 

3- Hkksaxl& xqtjkr 

4- ,djk& vle 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ 1 vkSj 4  ¼ch½ 1] 2 vkSj 3 

¼lh½ 1] 3 vkSj 4 ¼Mh½ 1] 2] 3 vkSj 4 

11-fuEufyf[kr esa ls dkSu lk@ls dFku 
lgh gS@gSa\ 
1- Hkkjr esa fgeky; dsoy ikap jkT;ksa esa QSyk 

gqvk gS 

2- if'peh ?kkV dsoy ikap jkT;ksa esa QSys gq, gSa 

3- iqfydV >hy dsoy nks jkT;ksa esa QSyh gqÃ gS 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ dsoy 1  ¼ch½ dsoy 3 

¼lh½ 1 vkSj 2  ¼Mh½ 1] 2 vkSj 3 

12-fuEufyf[kr esa ls dkSu ls dFku lgh 
gSa\ 
1- dksjkseaMy rV dk fuekZ.k mHkkj ds dkj.k 

gqvk 

2- mHkkj ds dkj.k cuk ekykckj rV 

3- tyeXu gksus ds dkj.k cuk dksad.k rV 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ 1 vkSj 2         

¼ch½ 1 vkSj 3 

¼lh½ 2 vkSj 3        

¼Mh½ 1] 2 vkSj 3 

13- ekmaV ,ojsLV fuEufyf[kr esa ls fdl 
{ks= esa fLFkr gS\ 
¼,½ usiky fgeky;  

¼ch½ vle fgeky; 

¼lh½ iatkc fgeky;   

¼Mh½ d'ehj fgeky; 



 

14.Which among the following matches 
of Mountain Passes and their states are 
correct? 
1. Lipulekh– Uttarakhand 
2. Nathu La– Sikkim 
3. Shipki La– Himachal Pradesh 
4. Zoji La– Jammu and Kashmir 
Choose the correct option from the 
codes given below : 
[A] 1 & 2  [B] 2 & 4 

[C] 1, 3 & 4  [D] 1, 2, 3 & 4 

15.Banihal pass connect which of the 

following places? 

[A] Manali & Leh    

[B] Jammu & Srinagar 

[C] Ladakh & Tibet          

 [D] Leh & Siachen 

16.Which of the following is the highest 

peak of south India? 

[A] Anaimudi                   [B] Dodabeta 

[C] Mahendragiri             [D] Gurushikhar 

17.Arrange the following mountain 

ranges of India from North to South 

1. Aravalli Range 

2. Satpura Range 

3. Vindhyan Range 

4. Ajanta range 

Choose the correct option from the 

codes given below : 

[A] 1, 4, 2, 3 [B] 1, 2, 4, 3 
[C] 1, 3, 2, 4  [D] 1, 3, 4, 2 
18.Which of the following matches of 
states and their highest peaks are 
correct? 
1. West Bengal- Sandakphu 
2. Tamil Nadu- Doddabetta 
3. Kerala- Anamudi 
4. Maharashtra- Kalsubai 
Choose the correct option from the 
codes given below : 
[A] 1 & 2  [B] 1, 2 & 3 
[C] 1, 3 & 4  [D] 1, 2, 3 & 4 
19.Which of the following hill stations 
are referred to as the “Queen of 
Chotanagpur”? 
[A] Netarhat  [B] Patratu 
[C] Palampur [D] Chirmiri 

14-fuEufyf[kr esa ls dkSu&ls ekmUVsu njsZ 
vkSj muds jkT;ksa ds esy lgh gSa\ 
1- fyiqys[k& mÙkjk[kaM 

2- ukFkw yk– flfôe 

3- f'kidh yk& fgekpy çns'k 

4- t+ksth yk& tEew vkSj d'ehj 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ 1 vkSj 2  ¼ch½ 2 vkSj 4 

¼lh½ 1] 3 vkSj 4  ¼Mh½ 1] 2] 3 vkSj 4 

15-cfugky njkZ fuEufyf[kr esa ls fdl 
LFkku dks tksM+rk gS\ 
¼,½ eukyh vkSj ysg      ¼ch½ tEew vkSj 

Jhuxj 

¼lh½ yík[k vkSj frCcr   ¼Mh½ ysg vkSj 

fl;kfpu 

16-fuEufyf[kr esa ls dkSu nf{k.k Hkkjr dh 
lcls Å¡ph pksVh gS\ 
¼,½ vukÃeqMh           ¼ch½ MksMkcsVk 

¼lh½ egsaæfxfj           ¼Mh½ xq#f'k[kj 

17-Hkkjr dh fuEufyf[kr ioZr J`a[kykvksa 
dks mÙkj ls nf{k.k dh vksj O;ofLFkr djsa 
1- vjkoyh jsat  2- lriqM+k jsat 

3- Çoè; jsat  4- vtark jsat 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ 1] 4] 2] 3  ¼ch½ 1] 2] 4] 3 

¼lh½ 1] 3] 2] 4  ¼Mh½ 1] 3] 4] 2 

18-fuEufyf[kr esa ls dkSu ls jkT;ksa vkSj 
mudh lcls Åaph pksfV;ksa ds esy lgh gSa\ 
1- if'pe caxky& landQw 

2- rfeyukMq& Mksìkcsêk 

3- dsjy& vukeqMh 

4- egkjk"Vª& dylqckÃ 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft,% 
¼,½ 1 vkSj 2  ¼ch½ 1] 2 vkSj 3 

¼lh½ 1] 3 vkSj 4  ¼Mh½ 1] 2] 3 vkSj 4 

19-fuEufyf[kr esa ls fdl fgy LVs'ku dks 
ÞNksVkukxiqj dh jkuhÞ dgk tkrk gS\ 
¼,½ usrjgkV  ¼ch½ irjkrw 

¼lh½ ikyeiqj  ¼Mh½ fpjfejh 



 

20.Which of the following hill station is 

one of the world‟s “Eco Hot-Spots” in 

India? 

[A] Amboli                [B] Drass 

[C] Palampur             [D] Pachmarhi 

21.Which one of the following is not a 

tributary of Indus River? 

[A] Chenab  [B] Beas 

[C] Ravi  [D] Tawi 

22.What is the length of the Indus river 

in India? 

[A] 700 km  [B] 920 km 

[C] 1200 km  [D] 1500 km 

23.What percent of the total area of 

India is occupied by the river Ganga? 

[A] 5.87%  [B] 10.62% 

[C] 21.3%  [D] 26.3% 

24.Which among the following rivers 

creates estuary? 

1. Mahi  2. Tapti 

3. Pennar  4. Narmada 

Choose the correct option from the 

codes given below : 
[A] 1 & 2  [B] 2 & 4 

[C] 3 & 4  [D] 1, 2, 3 & 4 

25.The rainfall distribution pattern over 

the Ganga basin decreases following 

which of the following directions? 

[A] From West to East and North to South 

[B] From West to East and South to North 

[C] From East to West and North to South 

[D] From East to West and South to North 

26.During the summer season, the 

climatic condition “Norwester” takes 

place in which of the following states of 

India? 

[A] Punjab  [B] West Bengal 

[C] Kerala  [D] Rajasthan 

27.Which of the following clearly defines 

the Inter-Tropical Convergence Zone? 

[A] Low pressure belt near the tropic of 

cancer 

[B] High pressure belt near the equator 

[C] Low pressure belt near the equator 

[D] High pressure belt near the tropic of 

cancer 

20-fuEufyf[kr esa ls dkSu lk fgy LVs'ku 
Hkkjr esa nqfu;k ds Þbdks g‚V&Li‚VÞ esa ls 
,d gS\ 
¼,½ vacksyh            ¼ch½ ækl 

¼lh½ ikyeiqj          ¼Mh½ ipe<+h 

21-fuEufyf[kr esa ls dkSu Çlèkq unh dh 
lgk;d unh ugÈ gS\ 
¼,½ fpukc  ¼ch½ C;kl 

¼lh½ jfo  ¼Mh½ roh 

22-Hkkjr esa Çlèkq unh dh yackÃ fdruh 
gS\ 
¼,½ 700 fdeh  ¼ch½ 920 fdeh 

¼lh½ 1200 fdeh ¼Mh½ 1500 fdeh 

23-Hkkjr ds dqy {ks=Qy ds fdrus çfr'kr 
Hkkx ij xaxk unh dk dCtk gS\ 
¼,½ 5-87%   ¼ch½ 10-62% 

¼lh½ 21-3%  ¼Mh½ 26-3% 

24-fuEufyf[kr esa ls dkSu lh unh eqgkuk 
cukrh gS\ 
1- ekgh   2- rkIrh 

3- isUukj  4- ueZnk 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ 1 vkSj 2  ¼ch½ 2 vkSj 4 

¼lh½ 3 vkSj 4  ¼Mh½ 1] 2] 3 vkSj 4 

25- xaxk csflu ij o"kkZ forj.k iSVuZ 
fuEufyf[kr esa ls fdl fn'kk esa ?kVrk gS\ 
¼,½ if'pe ls iwoZ vkSj mÙkj ls nf{k.k rd 

¼ch½ if'pe ls iwoZ vkSj nf{k.k ls mÙkj rd 

¼lh½ iwoZ ls if'pe vkSj mÙkj ls nf{k.k rd 

¼D½ iwoZ ls if'pe vkSj nf{k.k ls mÙkj dh vksj 

26-xÆe;ksa ds ekSle ds nkSjku] tyok;q dh 
fLFkfr Þu‚josLVjÞ Hkkjr ds fuEufyf[kr esa 
ls fdl jkT; esa gksrh gS\ 
¼,½ iatkc           ¼ch½ if'pe caxky 

¼lh½ dsjy          ¼Mh½ jktLFkku 

27-fuEufyf[kr esa ls dkSu 
varj&m".kdfVcaèkh; vfHklj.k {ks= dks 
Li"V :i ls ifjHkkf"kr djrk gS\ 
¼,½ ddZ js[kk ds ikl de ncko dh isVh 

¼ch½ Hkweè; js[kk ds ikl mPp ncko csYV 

¼lh½ Hkweè; js[kk ds ikl de ncko dh isVh 

¼Mh½ ddZ js[kk ds fudV mPp nkc isVh 



 

28.The Monex expedition was a joint 

venture between which of the following 

countries? 

[A] India and USA 

[B] India and Japan 

[C] India and Soviet Union 

[D] India and Thailand 

29.Which of the following type of soil 

needs little irrigation as it retains soil 

moisture? 

[A] Laterite soil [B] Alluvial soil 

[C] Black soil [D] Red soil 

30.Which one of the following crops is 

not cultivated in Karewas? 

[A] Saffron  [B] Ling nut 

[C] Almond  [D] Walnut 

31.Yamuna river was the tributary of 

which of the following rivers before it 

became a tributary of the Ganga river? 

[A] Mahanadi [B] Godavari 

[C] Indus  [D] Tapi 

32.Myanmar does not share its 

international boundary with: 
1. Laos  2. Thailand 

3. Vietnam  4. India 

33.Which among the following about the 

tropical cyclone are correct? 

1. It occurs between 8°N to 25°N in the 

northern hemisphere 

2. Latent heat of condension is the main 

energy source of cyclone 

3. It occurs mainly after the summer 

solstice 

4. Clone develops only on ocean 

Choose the correct option from the 

codes given below : 

[A] 1 & 2   

[B] 1, 2 & 3 

[C] 2, 3 & 4   

[D] 1, 2, 3 & 4 

34.Leaching is the maximum in which of 

the following type of soil? 

[A] Desert soil [B] Laterite soil 

[C] Red soil  [D] Regur soil 

28-eksusDl vfHk;ku fuEufyf[kr esa ls 
fdl ns'k ds chp ,d la;qä m|e Fkk\ 
¼,½ Hkkjr vkSj ;w,l, 

¼ch½ Hkkjr vkSj tkiku 

¼lh½ Hkkjr vkSj lksfo;r la?k 

¼Mh½ Hkkjr vkSj FkkÃySaM 

29-fuEufyf[kr esa ls fdl çdkj dh feêh 
dks de ÇlpkÃ dh vko';drk gksrh gS 
D;ksafd ;g feêh dh ueh dks cjdjkj 
j[krh gS\ 
¼,½ ysVjkbV feêh ¼ch½ tyks<+ feêh 

¼lh½ dkyh feêh ¼Mh½ yky feêh 

30- fuEu esa ls fdl Qly dh [ksrh 
djsokl esa ugÈ dh tkrh gS\ 
¼,½ dslj  ¼ch½ Çyx v[kjksV 

¼lh½ cknke  ¼Mh½ v[kjksV 

31-xaxk unh dh lgk;d unh cuus ls 
igys ;equk unh fuEufyf[kr esa ls fdl 
unh dh lgk;d unh Fkh\ 
¼,½ egkunh  ¼ch½ xksnkojh 

¼lh½ Çlèkq  ¼Mh½ rkilh 

32-e;kaEkkj viuh jk"Vªh; lhek fdlds 
lkFk lka>k ugha djrk gS% 
1- ykvksl  2- FkkbZySaM 

3- fo;ruke  4- Hkkjr 

33-m".kdfVcaèkh; pØokr ds ckjs esa 
fuEufyf[kr esa ls dkSu lk lgh gS\ 

1- ;g mÙkjh xksyk)Z esa 8°N ls 25°N ds chp 

gksrk gS 

2- la?kuu dh xqIr Å"ek pØokr dk eq[; 

ÅtkZ lzksr gS 

3- ;g eq[; :i ls xzh"e laØkafr ds ckn gksrk 

gS 

4- Dyksu leqæ ij gh fodflr gksrk gS 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ 1 vkSj 2  ¼ch½ 1] 2 vkSj 3 

¼lh½ 2] 3 vkSj 4 ¼Mh½ 1] 2] 3 vkSj 4 

34-fuEufyf[kr esa ls fdl çdkj dh feêh 
esa fu{kkyu vfèkdre gksrk gS\ 
¼,½ jsfxLrkuh feêh ¼ch½ ysVjkbV feêh 

¼lh½ yky feêh ¼Mh½ jsxqj feêh 



 

35.Which among the following states is 

the leading producer of Gypsum? 

[A] Odisha  [B] Karnataka 

[C] Rajasthan [D] Madhya Pradesh 

36.Jhilimili Coalfield is located in which 

of the following states of India? 

[A] Odisha 

[B] Chattisgarh 

[C] Andhra Pradesh 

[D] Uttar Pradesh 

37.Which among the following are the 

advantages of thermal electricity 

generation? 
1. Generation capability even in worst 

weather condition 

2. Generation is possible where 

hydropower generation is impossible 

3. The short gestation period of the thermal 

power station 

4. Eco-friendly operation 

Choose the correct option from the 

codes given below : 
[A] 1 & 2  [B] 1, 2 & 3 

[C] 2, 3 & 4  [D] 1, 2, 3 & 4 

38.Which among the following is the 

largest solar park in the world? 

[A] Bhadla Solar Park 

[B] Pavagada Solar Park 

[C] Benban Solar Park 

[D] Tengger Desert Solar Park 

39.More than half of the production of 

soybean in India comes from which of 

the following states? 

[A] Madhya Pradesh  

[B] Rajasthan 

[C] Punjab   

[D] Andhra Pradesh 

40.The term „operation flood‟ refers to 

which of the following? 

[A] Foodgrain production 

[B] Flood control 

[C] Milk production 

[D] Population control 

 

35-fuEufyf[kr esa ls dkSu lk jkT; 
ftIle dk çeq[k mRiknd gS\ 
¼,½ vksfM'kk  ¼ch½ dukZVd 

¼lh½ jktLFkku ¼Mh½ eè; çns'k 

36- f>fyfeyh dksyQhYM Hkkjr ds 
fuEufyf[kr esa ls fdl jkT; esa fLFkr gS\ 
¼,½ vksfM'kk  ¼ch½ NÙkhlx<+ 

¼lh½ vkaèkz çns'k ¼Mh½ mÙkj çns'k 

37-fuEufyf[kr esa ls dkSu ls FkeZy 
fctyh mRiknu ds ykHk gSa\ 
1- lcls [kjkc ekSle esa Hkh mRiknu {kerk 

2- tgka ty fo|qr mRiknu vlaHko gS ogka 

mRiknu laHko gS 

3- FkeZy ikoj LVs'ku dh NksVh xHkZèkkj.k vofèk 

4- i;kZoj.k ds vuqdwy lapkyu 

uhps fn, x, dwVksa esa ls lgh fodYi dk 
p;u dhft, % 
¼,½ 1 vkSj 2  ¼ch½ 1] 2 vkSj 3 

¼lh½ 2] 3 vkSj 4 ¼Mh½ 1] 2] 3 vkSj 4 

38-fuEufyf[kr esa ls dkSu nqfu;k dk 
lcls cM+k lksyj ikdZ gS\ 
¼,½ Hkknyk lksyj ikdZ 

¼ch½ ikokxM+k lksyj ikdZ 

¼lh½ csucu lksyj ikdZ 

¼Mh½ Vsaxj MstVZ lksyj ikdZ 

39- Hkkjr esa lks;kchu dk vkèks ls vfèkd 
mRiknu fuEufyf[kr esa ls fdl jkT; ls 
gksrk gS\ 
¼,½ eè; çns'k             

¼ch½ jktLFkku 

¼lh½ iatkc                

¼Mh½ vkaèkz çns'k 

40- *v‚ijs'ku ¶yM* 'kCn fuEufyf[kr esa 
ls fdlls lacafèkr gS\ 
¼,½ [kk|kUu mRiknu 

¼ch½ ck<+ fu;a=.k 

¼lh½ nwèk mRiknu 

¼Mh½ tula[;k fu;a=.k 

 



 

41.Which of the following types of 
irrigation is the easiest source of 
irrigation? 
[A] Tank                         [B] Canal 
[C] Wells & Tubewells  [D] None of the 
above 
42.Which of the following States has 
more than two major ports? 
[A] West Bengal [B] Maharashtra 
[C] Tamil Nadu [D] Odisha 
43.Which of the following ports of India 
is recently named as Dr. Syama Prasad 
Mukherjee Port Trust? 
[A] Kandla Port [B] Chennai Port 
[C] Kolkata Port [D] Vizag Port 

44.Jal Marg Vikas Project aims at the 

capacity augmentation of navigation on 

which of the following national 

waterways? 
[A] NW-1  [B] NW-3 
[C] NW-4  [D] NW-5 

45.As per Census 2011, which of the 

following pairs of cities recorded the 

highest population? 

[A] Jaipur and Kolkata 

[B] Mumbai and Delhi 

[C] Kolkata and Delhi 

[D] Delhi and Bengaluru 

46.As per Census 2011, the 

concentration of the Scheduled Caste 

population is the highest in which of the 

following states? 

[A] Uttar Pradesh [B] Madhya Pradesh 

[C] Punjab  [D] Haryana 

47.Which of the following is the correct 

arrangement of the following cities in 

descending order as per their population 

size as per the census 2011? 

[A] Kolkata-Chennai-Mumbai-Delhi 

[B] Delhi-Mumbai-Kolkata-Chennai 

[C] Mumbai-Delhi-Kolkata-Chennai 

[D] Mumbai-Kolkata-Delhi-Chennai 

48.The Pithora ritualistic painting work 

is one of the famous cultures of which 

among the following tribal group of 

India? 

[A] Gonds  [B] Santhals 

[C] Nagas  [D] Bhils 

41-fuEufyf[kr esa ls fdl çdkj dh 
ÇlpkÃ ÇlpkÃ dk lcls vklku lzksr gS\ 
¼,½  VSad                             

¼ch½ ugj 

¼lh½ dq,a vkSj Vîwcosy               

¼Mh½ mijksä esa ls dksÃ ugÈ 

42-fuEufyf[kr esa ls fdl jkT; esa nks ls 
vfèkd çeq[k canjxkg gSa\ 
¼,½ if'pe caxky ¼ch½ egkjk"Vª 

¼lh½ rfeyukMq ¼Mh½ vksfM'kk 

43-Hkkjr ds fuEufyf[kr esa ls fdl 
canjxkg dks gky gh esa M‚- ';kek çlkn 
eq[ktÊ iksVZ VªLV ds :i esa ukfer fd;k 
x;k gS\ 
¼,½ dkaMyk iksVZ ¼ch½ psUuÃ iksVZ 

¼lh½ dksydkrk iksVZ ¼Mh½ fotkx iksVZ 

44-ty ekxZ fodkl ifj;kstuk dk mís'; 
fuEufyf[kr esa ls fdl jk"Vªh; tyekxZ 
ij ukSogu dh {kerk esa o`f) djuk gS\ 
¼,½ ,uMCY;w&1 ¼ch½ ,uMCY;w &3 

¼lh½ ,uMCY;w &4 ¼Mh½ ,uMCY;w&5 

45-2011 dh tux.kuk ds vuqlkj] 
fuEufyf[kr esa ls fdl 'kgj dh tksM+h us 
lcls vfèkd tula[;k ntZ dh\ 
¼,½ t;iqj vkSj dksydkrk 

¼ch½ eqacÃ vkSj fnYyh 

¼lh½ dksydkrk vkSj fnYyh 

¼Mh½ fnYyh vkSj csaxyq# 

46-tux.kuk 2011 ds vuqlkj] fuEu esa ls 
fdl jkT; esa vuqlwfpr tkfr dh 
tula[;k dk ladsUæ.k lokZfèkd gS\ 
¼,½ mÙkj çns'k ¼ch½ eè; çns'k 

¼lh½ iatkc  ¼Mh½ gfj;k.kk 

47-fuEufyf[kr esa ls dkSu lh tux.kuk 
2011 ds vuqlkj tula[;k vkdkj ds 
vuqlkj vojksgh Øe esa fuEufyf[kr 'kgjksa 
dh lgh O;oLFkk gS\ 
¼,½ dksydkrk&psUuÃ&eqacÃ&fnYyh 

¼ch½ fnYyh&eqacÃ&dksydkrk&psUuÃ 

¼lh½ eqacÃ&fnYyh&dksydkrk&psUuÃ 

¼Mh½ eqacÃ&dksydkrk&fnYyh&psUuÃ 

48- fiFkkSjk deZdkaM fp=dyk dk dke 
Hkkjr ds fuEufyf[kr vkfnoklh lewg esa 
ls fdl çfl) laL—fr esa ls ,d gS\ 
¼,½ xksaM   ¼ch½ laFkky 

¼lh½ ukxk   ¼Mh½ Hkhy 

 



 

49.International Mother Language Day 
is celebrated on which date? 
[A] 21st February [B] 21st May 
[C] 21st June [D] 21st October 
50.Which of the following types of rural 
settlement patterns is found where the 
productive agricultural field is present 
with a dense road network? 
[A] Rectangular pattern 
[B] Linear pattern 
[C] Star-like pattern 
[D] Circular pattern 
51.What is the number of known 
satellites of Jupiter? 
[A] 35  [B] 55 
[C] 42  [D] 79 
52.Rhodesia is the old name of ? 
[A] Zaire  [B] Zimbabwe 
[C] Switzerland [D] Malawi 
53.Which among the following is 
Brightest star?                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                              
[A] Sirius   
[B] Alpha centauri 

[C] Proxima Centauri 

[D] Polaris 

54.During which of the following events 

the distance between Sun and Earth is 

maximum?  

[A] Aphelion 

[B] Perhelion 

[C] Summer Solsitice  

[D] Winter Solsitice 

55.Which among the following is the 

average Orbital speed of the Earth 

around the Sun?  

[A] 18.5 km / sec [B] 29.7 km/s 
[C] 31.5 km/s [D] 33.6 km/s 
56.180 degree longitude is also known as 
_ ___? 
[A] Arctic Circle 
[B] International Date Line 
[C] The Great Circle 
[D] Equator 
57.Which among the following is the 
most abundant element by mass in 
Earth‟s Crust ? 
[A] Iron  [B] Aluminum 
[C] Nickel  [D] Oxygen 

49-varjkZ"Vªh; ekr`Hkk"kk fnol fdl rkjh[k 
dks euk;k tkrk gS\ 
¼,½ 21 Qjojh ¼ch½ 21 eÃ 

¼lh½ 21 twu  ¼Mh½ 21 vDVwcj 

50-fuEufyf[kr esa ls fdl çdkj ds 
xzkeh.k cankscLr iSVuZ ik, tkrs gSa tgka 
mRiknd —f"k {ks= ?kus lM+d usVodZ ds 
lkFk ekStwn gS\ 
¼,½ vk;rkdkj iSVuZ  ¼ch½ jSf[kd iSVuZ 

¼lh½ LVkj tSlk iSVuZ ¼Mh½ ifji= iSVuZ 

51-c`gLifr ds Kkr mixzgksa dh la[;k 
fdruh gS\ 
¼,½ 35   ¼ch½ 55 

¼lh½ 42  ¼Mh½ 79 

52-jksfM~l;k dk iqjkuk uke gS\ 
¼,½ t+Sjs  ¼ch½ ftEckCos 

¼lh½ fLoV~t+jySaM ¼Mh½ eykoh 

53-fuEufyf[kr esa ls dkSu lcls pedhyk 
rkjk gS\ 
¼,½ lhfj;l  ¼ch½ vYQk lsaVkSjh 

¼lh½ ç‚fDlek lsaV‚jh ¼Mh½ iksykfjl 

54-fuEufyf[kr esa ls fdl ?kVuk ds nkSjku 
lw;Z vkSj i`Foh ds chp dh nwjh vfèkdre 
gksrh gS\ 
¼,½ ,Q+sfy;u   

¼ch½ isjsfy;u 

¼lh½ xzh"edkyhu laØkafr 

¼Mh½ 'khrdkyhu laØkafr 

55-fuEufyf[kr esa ls dkSu lw;Z ds pkjksa 
vksj i`Foh dh vkSlr d{kh; xfr gS\ 
¼,½ 18-5 fdeh@lsdaM 

¼ch½ 29-7 fdeh@lsd 

¼lh½ 31-5 fdeh@lsd 

¼Mh½ 33-6 fdeh@lsdaM 

56-180 fMxzh ns'kkarj dks &&&&&&& ds 
:i esa Hkh tkuk tkrk gS\ 
¼,½ vkdZfVd ldZy 

¼ch½ varjkZ"Vªh; frfFk js[kk 

¼lh½ xzsV ldZy 

¼Mh½ Hkweè; js[kk 

57-fuEufyf[kr esa ls dkSu lk i`Foh dh 
iiM+h esa æO;eku }kjk lcls çpqj ek=k esa 
rRo gS\ 
¼,½ yksgk ¼ch½ ,Y;wfefu;e 

¼lh½ fudy ¼Mh½ v‚Dlhtu 



 

58.Chamonix which is known for first 

Winter Olympic Games is located in 

which of the following countries? 

[A] Germany            [B] Italy 

[C] Switzerland        [D] France 

59.Forbidden city is located in which of 

the following countries? 

[A] Korea  [B] Japan 

[C] Italy  [D] China 

60.Layer which separates the 

troposphere from the stratosphere is 

known as: 

[A] lonosphere [B] Tropopause 

[C] Mesosphere [D] Thermosphere 

61.A star begins its life in a cloud of dust 

and gas. What is this cloud called ? 

[A] Pulsar  [B] Neutron 

[C] Constellation [D] Nebula 

62.Which astronomer developed the 

concept of classifying stars according to 

their brightness? 

[A] Copernicus [B] Edwin Hubble 

[C] Hipparchus [D] Galileo Galilie 

63.Which among the following are 

gaseous planets? 

[A] Mercury, Venus, Earth, Mars 

[B] Mercury, Jupiter, Saturn, Uranus 

[C] Saturn, Uranus, Neptune, Pluto 

[D] Jupiter, Saturn, Uranus, Neptune 

64.What is the temperature at the outer 

surface of the Sun? 

[A] 10000 degrees C 

[B] 4000 degrees C 

[C] 6000 degrees C 

[D] 100000 degrees C 

65.In which Eon was the oldest known 

mineral Zircon found? 

[A] Archean  [B] Hadean 

[C] Proterozoic [D] Phanerozoic 

66.On which of the following does the 

seismic wave velocity depend? 

[A] Density of the rock 

[B] Elasticity of the rock 

[C] Shape of the rock 

[D] Both 1 and 2 

58- 'kSe‚fuDl tks igys 'khrdkyhu 
vksyafid [ksyksa ds fy, tkuk tkrk gS] 
fuEufyf[kr esa ls fdl ns'k esa fLFkr gS\ 
¼,½ teZuh        ¼ch½ bVyh 

¼lh½ fLoV~t+jySaM    ¼Mh½ Ýkal 

59-fuf"k) 'kgj fuEufyf[kr esa ls fdl 
ns'k esa fLFkr gS\ 
¼,½ dksfj;k  ¼ch½ tkiku 

¼lh½ bVyh  ¼Mh½ phu 

60- {kksHkeaMy dks lerki eaMy ls vyx 
djus okyh ijr dgykrh gS% 
¼,½ yksuksLQh;j ¼ch½ Vªksiksi‚t+ 

¼lh½ eslksLQh;j ¼Mh½ FkeksZLQh;j 

61- ,d rkjk èkwy vkSj xSl ds ckny esa 
viuk thou 'kq: djrk gSA bl ckny dks 
D;k dgk tkrk gS\ 
¼,½ iYlj  ¼ch½ U;wVª‚u 

¼lh½ u{k=  ¼Mh½ uscqyk 

62-fdl [kxksyfon us rkjksa dks mudh 
ped ds vuqlkj oxÊ—r djus dh 
voèkkj.kk fodflr dh\ 
¼,½ d‚ijfudl ¼ch½ ,Mfou gcy 

¼lh½ fgIipZl  ¼Mh½ xSyhfy;ks xSyhyh 

63-fuEufyf[kr esa ls dkSu xSlh; xzg gSa\ 
¼,½ cqèk] 'kqØ] i`Foh] eaxy 

¼ch½ cqèk] c`gLifr] 'kfu] ;wjsul 

¼lh½ 'kfu] ;wjsul] usiP;wu] IywVks 

¼Mh½ c`gLifr] 'kfu] ;wjsul] usiP;wu 

64-lw;Z dh ckgjh lrg ij rkieku fdruk 
gS\ 
¼,½ 10000 fMxzh lsfYl;l 

¼ch½ 4000 fMxzh lsfYl;l 

¼lh½ 6000 fMxzh lsfYl;l 

¼Mh½ 100000 fMxzh lsfYl;l 

65- lcls iqjkuk Kkr [kfut ftØksu fdl 
dYi esa ik;k x;k Fkk\ 
¼,½ vkÆd;u        ¼ch½ gnhu 

¼lh½ çksVsjkst+ksbd ¼Mh½ Q+Sujkst+ksbd 

66- Hkwdaih; rjax osx fuEufyf[kr esa ls 
fdl ij fuHkZj djrk gS\ 
¼,½ pêku dk ?kuRo 

¼ch½ pêku dh yksp 

¼lh½ pêku dk vkdkj 

¼Mh½ 1 vkSj 2 nksuk sa 



 

67.Which among the following 
statements about igneous rocks 
is not correct? 
[A] Igneous rocks cooled deep inside the 
earth are called as intrusive rocks 
[B] Igneous rocks in which the magma 
flows out and cools on the earth’s surface 
are called as extrusive rocks 
[C] Intrusive rocks have small crystals 
[D] Basalt is an example of extrusive 
igneous rock 
68.Which among the following 
characteristics of the Igneous rocks 
is not correct? 
[A] They have high Porosity 
[B] They do not contain fossils 
[C] They are hard and impervious 
[D] They generally have a high resistance 
to erosion 

69.Who explained the Convectional 

Current Theory? 

[A] Alfred Wegener [B] Harry Hess 

[C] Arthur Holmes  [D] Parker 

70.Which Isthmus connects the crimean 

peninsula to ukraine? 

[A] Isthmus of kra   

[B] Isthmus of Catalina 

[C] Isthmus of Rivas 

[D] Isthmus of Pere kop 

71.Which among the following processes 

are involved in the formation of gullies? 

[A] Wind Erosion   

[B] Glacial Erosion 

[C] Limestone erosion 

[D] Fluvial erosion 

72.Which among the following rocks are 

also called as pedestal rocks? 

[A] Mesas  [B] Mushroom rock 

[C] Yardangs [D] Strike Ridge 

73.What is the point at which the water 

flows from an aquifer to the earth‟s 

surface?  

[A] Lake  [B] Spring 

[C] Ocean  [D] Waterfall 

74.Yarlung Tsangpo river flows in 

which continent? 

[A] Asia  [B] Europe 

[C] Australia [D] Africa 

67- vkXus; pêkuksa ds ckjs esa fuEufyf[kr 
esa ls dkSu lk dFku lgh ugÈ gS\ 
¼,½ vkXus; pêkuksa dks i`Foh ds vanj xgjkÃ 

rd BaMk fd;k tkrk gS] mUgsa ?kqliSB pêku 

dgk tkrk gS 

¼ch½ vkXus; pêkusa ftuesa eSXek cgrk gS vkSj 

i`Foh dh lrg ij BaMk gks tkrk gS] mUgsa 

cfgeqZ[kh pêkusa dgk tkrk gS 

¼lh½ ?kqliSB djus okyh pêkuksa esa NksVs fØLVy 

gksrs gSa 

¼Mh½ cslkYV ,DlVªwflo vkXus; pêku dk ,d 

mnkgj.k gS 

68- vkXus; pêkuksa dh fuEufyf[kr esa ls 
dkSu&lh fo'ks"krk lgh ugÈ gS\ 
¼,½ muds ikl mPp fNæ gS 

¼ch½ muesa thok'e ugÈ gksrs gSa 

¼lh½ os dBksj vkSj vHks| gSa 

¼Mh½ os vke rkSj ij {kj.k ds fy, mPp 

çfrjksèk j[krs gSa 

69- laoguh èkkjk fl)kar dh O;k[;k 
fdlus dh\ 
¼,½ vYÝsM osxsuj ¼ch½ gSjh gsl 

¼lh½ vkFkZj gksEl ¼Mh½ ikdZj 

70- dkSu&lk LFkyMe:e/; Øhfe;k 
çk;}hi dks ;wØsu ls tksM+rk gS\ 
¼,½ Øk dk LFkyMe:e/; 

¼ch½dSVkfyuk ds bLreql 

¼lh½ fjol dk LFkyMe:e/; 

¼Mh½ isjs dksi dk LFkyMe:e/; 

71-fuEufyf[kr esa ls dkSu lh çfØ;k 
ukfy;ksa ds fuekZ.k esa 'kkfey gS\ 
¼,½ iou dVko ¼ch½ fgeun {kj.k 

¼lh½ pwuk iRFkj dk {kj.k 

¼Mh½ unh ds dVko 

72-fuEufyf[kr esa ls fdl pêku dks 
isMLVy pêkusa Hkh dgk tkrk gS\ 
¼,½ eslklks        ¼ch½ e'k:e j‚d 

¼lh½ ;kMk±Xl      ¼Mh½ LVªkbd fjt 

73- ,d tyHk`r ls i`Foh dh lrg ij 
ikuh fdl Çcnq ij cgrk gS\ 
¼,½>hy           ¼ch½ olar 

¼lh½ egklkxj     ¼Mh½ >juk 

74- ;kjyqax lkaxiks unh fdl egk}hi esa 
cgrh gS\ 
¼,½,f'k;k  ¼ch½;wjksi 

¼lh½v‚LVªsfy;k ¼Mh½vÝhdk 



 

75.What is the deposit of material 
comprising the active shoreline called? 
[A] Tor                            [B] Oasis 
[C] Berm                         [D] Moraine 
76.Which among the following is a 
closed hydrological systems? 
[A] Exorheic basin      [B] Endorheic basin 
[C] Perennial basin    [D] Eupheral basin 
77.What among the following are 
associated with the formation of Mid 
Oceanic ridges? 
[A] Plate Tectonics     
[B] The Big Splat 
[C] Gravitational force 
[D] Convectional force 
78.Which among the following 
statements is correct about the 
weathering landform Bornhardt? 
[A] It is a plain where the bedrock has 
been subject to considerable subsurface 
weathering 
[B] It is a topography formed from the 
dissolution of soluble rocks 
[C] It is a large dome-shaped, steep-sided, 
bald rock 
[D] It is a shallow depression or basin 
eroded into flat or gently sloping cohesive 
rock 
79.Which among the following pairs of 
weathered landforms is/are correctly 
matched? 
1. Honeycomb weathering – A form of 

cavernous weathering and subcategory 
of tafoni 

2. Karst – Topography formed from the 
dissolution of soluble rocks 

3. Bornhardt – A large dome-shaped, 
steep-sided, bald rock 

Select the correct code from the options 
given below: 
[A] Only 1 & 2  [B] Only 2 
[C] Only 2 & 3  [D] 1, 2 & 3 
80.Which among the following lakes is 
not a part of the Great Lakes of North 
America? 
[A] Lake Huron               [B] Lake Victoria 
[C] Lake Michigan           [D] Lake Ontario 
81.Which among the following is not the 
ideal condition for the formation of 
tropical cyclones? 
[A] Large sea surface with temperature 
higher than 27° C 
[B] Upper divergence above the sea level 
system 
[C] Presence of the Coriolis force 
[D] High-level cyclonic circulation 

75- lfØ; rVjs[kk okyh lkexzh ds fu{ksi 
dks D;k dgrs gSa\ 
¼,½ Vksjks  ¼ch½ vks,fll 

¼lh½ cje  ¼Mh½ eksjkbu 

76-fuEufyf[kr esa ls dkSu ,d can 
gkbMªksy‚ftdy flLVe gS\ 
¼,½ ,Dlksjgsbd csflu ¼ch½ ,aMksjfgd csflu 

¼lh½ ckjgeklh csflu  ¼Mh½ ;wQsjy csflu 

77-fuEufyf[kr esa ls D;k eè; egklkxjh; 
dVd ds fuekZ.k ls lacafèkr gSa\ 
¼,½ IysV foorZfudh  ¼ch½ fcx LIysV 

¼lh½ xq#Rokd"kZ.k cy ¼Mh½ laoguh cy 

78- cksuZgkM~VZ ds vi{k; LFky ds ckjs esa 
fuEufyf[kr esa ls dkSu lk dFku lgh gS\ 
¼,½ ;g ,d ,slk eSnku gS tgka dh vkèkkjf'kyk 

dkQh milrg vi{k; ds vèkhu jgh gS 

¼ch½ ;g ?kqyu'khy pêkuksa ds fo?kVu ls cuus 

okyh LFkyk—fr gS 

¼lh½ ;g ,d cM+s xqacn ds vkdkj dk] 

[kM+h&fdukjs okyh] xatk pêku gS 

¼Mh½ ;g ,d mFkyk volkn ;k csflu gS tks 

likV ;k èkhjs&èkhjs <yku okyh ,dtqV pêku 

esa feV x;k gS 

79- vi{kf;r Hkw&vk—fr;ksa ds fuEufyf[kr 
;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 
gS@gSa\ 
1- eèkqdks'k vi{k; & dSouZl vi{k; dk ,d 

:i vkSj rQ+ksuh dh miJs.kh 

2- dkLVZ & ?kqyu'khy pêkuksa ds fo?kVu ls 

cuus okyh LFkyk—fr 

3- cksuZgkVZ & ,d cM+s xqacn ds vkdkj dk] 

[kM+h&fdukjs okyh] xatk pêku 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft, % 
¼,½ dsoy 1 vkSj 2  ¼ch½ dsoy 2 

¼lh½ dsoy 2 vkSj 3  ¼Mh½ 1] 2 vkSj 3 

80-fuEufyf[kr esa ls dkSu lh >hy mÙkjh 
vesfjdk dh egku >hyksa dk fgLlk ugÈ 
gS\ 
¼,½ ysd gwjksa ¼ch½ ysd foDVksfj;k 

¼lh½ fef'kxu >hy ¼Mh½ vksaVkfj;ks >hy 

81- fuEu esa ls dkSu m".kdfVcaèkh; 
pØokrksa ds fuekZ.k ds fy, vkn'kZ fLFkfr 
ugÈ gS\ 
¼,½ 27 fMxzh lsfYl;l ls vfèkd rkieku okyh 

cM+h leqæh lrg 

¼ch½ leqæ ry ç.kkyh ds Åij Åijh fopyu 

¼lh½ dksfjvksfyl cy dh mifLFkfr 

¼Mh½ mPp Lrjh; pØokrh ifjlapj.k 



 

82.Which among the following oceans is 

sometimes classified as an estuary of 

Atlantic Ocean? 

[A] Southern Ocean 

[B] Arctic Ocean 

[C] Pacific Ocean 

[D] Indian Ocean 

83.In which among the following oceans 

is the largest continental shelf located? 

[A] Pacific  [B] Atlantic 

[C] Southern [D] Arctic 

84.What type of corals are found very 

close to the land and forms a shallow 

lagoon known as Boat Channel? 

1. Atoll 

2. Fringing Reef 

3. Barrier Reef 

Select the correct code from the options 

given below: 

[A] Only 1  [B] Only 3 

[C] Only 2  [D] None of the above 

85.What is the period between high tide 

and low tide called? 

[A] Ebb Tide 

[B] Flow Tide 

[C] Rising Tide 

[D] Incoming Tide 

86.What are tides featuring two high 

tides and two low tides each day called? 

[A] Diurnal Tides 

[B] Mixed Tide 

[C] Neap Tide 

[D] Semi-diurnal Tide 

87.Which among the following is/are 

warm ocean currents in the Pacific 

Ocean? 

1. California current 

2. Oyashio current 

3. North Pacific Drift 

4. Humboldt current 

Select the correct code from the options 

given below: 

[A] Only 1 & 2 

[B] Only 1, 2, & 3 

[C] Only 3 & 4 

[D] Only 3 
 

82-fuEufyf[kr esa ls fdl egklkxj dks 
dHkh&dHkh vVykafVd egklkxj ds eqgkus 
ds :i esa oxÊ—r fd;k tkrk gS\ 
¼,½ nf{k.kh egklkxj ¼ch½ vkdZfVd egklkxj 

¼lh½ ç'kkar egklkxj ¼Mh½ Çgn egklkxj 

83-fuEufyf[kr esa ls fdl egklkxj esa 
lcls cM+k egk}hih; 'ksYQ fLFkr gS\ 
¼,½ ç'kkar  ¼ch½ vVykafVd 

¼lh½ nf{k.kh  ¼Mh½ vkdZfVd 

84- fdl çdkj ds çoky Hkwfe ds cgqr 
fudV ik, tkrs gSa vkSj ,d mFkys ySxwu 
dk fuekZ.k djrs gSa ftls cksV pSuy ds 
:i esa tkuk tkrk gS\ 
1- ,Vksy 

2- ÇÝÇtx jhQ 

3- cSfj;j jhQ 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft,% 
¼,½ dsoy 1 

¼ch½ dsoy 3 

¼lh½ dsoy 2 

¼Mh½ mijksä esa ls dksÃ ugÈ 

85-mPp Tokj vkSj fuEu Tokj ds chp dh 
vofèk dks D;k dgk tkrk gS\ 
¼,½ ,cc VkbM ¼ch½ ¶yks VkbM 

¼lh½ jkbÇtx VkbM ¼Mh½ vkus okyh Tokj 

86- çfrfnu nks mPp Tokj vkSj nks fuEu 
Tokj okys Tokj D;k dgykrs gSa\ 
¼,½ nSfud Tokj ¼ch½ fefJr Tokj 

¼lh½ uhi VkbM ¼Mh½ vèkZ&nSfud Tokj 

87-fuEufyf[kr esa ls dkSu ç'kkar egklkxj 
esa xeZ egklkxjh; èkkjk,a gSa@gSa\ 
1- dSfyQksÆu;k djaV 

2- vks;kf'k;ks djaV 

3- mÙkjh ç'kkar cgko 

4- gEcksYV djaV 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft,% 
¼,½ dsoy 1 vkSj 2 

¼ch½ dsoy 1] 2] vkSj 3 

¼lh½ dsoy 3 vkSj 4 

¼Mh½ dsoy 3 



 

88.Which among the following primary 

weather condition associated with 

coastal climate is not correct? 

[A] Sea Breeze During The Day 

[B] Higher Rainfall Than Inland Areas 

[C] Extreme Climate Throughout The Year 

[D] Land Breeze In The Evenings 

89.Which among the following 

statements is/are correct about soils? 

1. The clay-humus complex is essential 

for a fertile soil as it provides it with a 

high water and nutrient holding 

capacity. 

2. The humus in the soil however 

increases the risk of erosion. 

Select the correct code from the options 

given below: 

[A] Only 1  [B] Only 2 

[C] Both 1 & 2 [D] Neither 1 & 2 

90.The Nilotic, Bantu, Sudanic and 

Pygmy are tribes of which among the 

following race? 

[A] Caucasoid [B] Negroid 

[C] Australoid [D] Mongoloid 

91.Which among the following pairs of 

stages of population growth and their 

characteristics is/are correctly matched? 

1. First stage – Stage of high birth rate and 

high death rate 

2. Second stage – Stage of declining birth 

rate and low death rate. 

3. Third stage – Stage of high birth rate 

and low death rate. 

4. Fourth stage – Stage of low birth rate 

and death rate 

Select the correct code from the options 

given below: 

[A] Only 1, 2 & 3   [B] Only 1 & 4 

[C] Only 2, 3 & 4 [D] 1, 2, 3 & 4 

92.Which among the following is not a 

push factor of migration? 

[A] Pleasant Climate 

[B] Unemployement 

[C] Poor living conditions 

[D] Socio-economic backwardness 

88- rVh; tyok;q ls lacafèkr fuEufyf[kr 
esa ls dkSu lh çkFkfed ekSle fLFkfr lgh 
ugÈ gS\ 
¼,½ fnu ds nkSjku leqæh gok 

¼ch½ varnsZ'kh; {ks=ksa dh rqyuk esa vfèkd o"kkZ 

¼lh½ iwjs o"kZ pje tyok;q 

¼Mh½ ySaM czht bu n boÇux 

89-fuEufyf[kr esa ls dkSu lk@ls dFku 
feêh ds ckjs esa lgh gS@gSa\ 
1- feêh&áwel d‚EIysDl mitkÅ feêh ds 

fy, vko';d gS D;ksafd ;g bls mPp ikuh 

vkSj iks"kd rRo èkkj.k {kerk çnku djrk gSA 

2- gkykafd feêh esa áwel ds {kj.k dk [krjk 

c<+ tkrk gSA 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft, % 
¼,½ dsoy 1  ¼ch½ dsoy 2 

¼lh½ 1 vkSj 2 nksuksa ¼Mh½ u rks 1 vkSj 2 

90-fuyksfVd] caVw] lwMkuh vkSj fiXeh 
fuEufyf[kr esa ls fdl tkfr dh 
tutkfr;k¡ gSa\ 
¼,½ dksdsf'k;ku ¼ch½ uhxzksbM 

¼lh½ vkLVªsfy;kÃ ¼Mh½ eaxksy‚;M 

91- tula[;k o`f) ds pj.kksa vkSj mudh 
fo'ks"krkvksa ds fuEufyf[kr ;qXeksa esa ls 
dkSu lk@ls lgh lqesfyr gS@gSa\ 
1- çFke pj.k & mPp tUe nj vkSj mPp e`R;q 

nj dh voLFkk 

2- nwljk pj.k & ?kVrh tUe nj vkSj fuEu 

e`R;q nj dh voLFkkA 

3- rhljk pj.k & mPp tUe nj vkSj fuEu 

e`R;q nj dh voLFkkA 

4- pkSFkk pj.k & fuEu tUe nj vkSj e`R;q nj 

dh voLFkk 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft, % 
¼,½ dsoy 1] 2 vkSj 3   ¼ch½ dsoy 1 vkSj 4 

¼lh½ dsoy 2] 3 vkSj 4   ¼Mh½ 1] 2] 3 vkSj 4 

92-fuEufyf[kr esa ls dkSu çokl dk ,d 
èkôk dkjd ugÈ gS\ 
¼,½ lq[kn tyok;q 

¼ch½ csjkstxkjh 

¼lh½ [kjkc jgus dh fLFkfr 

¼Mh½ lkekftd&vkÆFkd fiNM+kiu 

 



 

93.Which among the following 
continents bound the Indian ocean? 
1. Asia  Africa 
2. Australia Antartica 
Select the correct code from the options 
given below: 
[A] Only 1 & 3 [B] Only 1, 2 & 3 
[C] Only 1, 3 & 4 [D] 1, 2, 3 & 4 
94.What is the forest activity involving 
the production of Timber called? 
[A] Ranching           [B] Mariculture 
[C] Lumbering         [D] Algaculture 
95.Which among the following is/are the 
characteristics of Mediterranean 
Agriculture? 

1. Mild Rainy Summer 

2. Mountain Topography  

3. Fruit Crops 
Select the correct code from the options 
given below: 
[A] Only 1 & 3 [B] Only 2 & 3 
[C] Only 1 & 2 [D] 1, 2 & 3 
96.Which among the following 
statements is/are correct about Tropical 
Grasses? 

1. The grasses in the tropical 
grasslands are tall, coarse and 
fibrous and they are considered 
less edible. 

2. Tropical grasslands are generally 
called savannas and form the 
dominant type of vegetation cover 
in the dry low latitudes. 

Select the correct code from the options 
given below: 
[A] Only 1  [B] Only 2 
[C] Both 1 & 2 [D] Neither 1 & 2 
97.Which among the following 
statements is/are correct about 
Transhumance? 

1. This practice is common in areas 
where the climate has one severe 
season, say a cold winter. 

2. Transhumance occurs in 
mountainous areas of Europe and 
Himalayas. 

Select the correct code from the options 
given below: 
[A] Only 1  [B] Only 2 
[C] Both 1 & 2 [D] Neither 1 & 2 

93- fuEufyf[kr esa ls dkSu lk egk}hi 
fgan egklkxj dks tksM+rk gS\ 
1- ,f'k;k  2- vQzhdk 

3- vkWLVªsfy;k  4- vUVkfVZdk 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft, % 
¼,½ dsoy 1 vkSj 3    ¼ch½ dsoy 1] 2 vkSj 3 

¼lh½ dsoy 1] 3 vkSj 4 ¼Mh½ 1] 2] 3 vkSj 4 

94- ydM+h ds mRiknu ls tqM+h ou 
xfrfofèk dks D;k dgk tkrk gS\ 
¼,½ i'kqikyu        ¼ch½ leqæh —f"k 

¼lh½ yEcÇjx        ¼Mh½ 'kSoky —f"k 

95-fuEufyf[kr esa ls dkSu Hkweè;lkxjh; 
—f"k dh fo'ks"krk gS@gSa\ 
1- gYdh cjlkr xeÊ 2- ioZrh; LFkyk—fr 

3- Qyksa dh Qlysa  

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft, % 
¼,½ dsoy 1 vkSj 3 ¼ch½ dsoy 2 vkSj 3 

¼lh½ dsoy 1 vkSj 2 ¼Mh½ 1] 2 vkSj 3 

96-m".kdfVcaèkh; ?kklksa ds ckjs esa 
fuEufyf[kr esa ls dkSu lk@ls dFku lgh 
gS@gSa\ 
1- m".k dfVcaèkh; ?kkl ds eSnkuksa dh ?kklsa 

yach] [kqjnjh vkSj js'ksnkj gksrh gSa vkSj bUgsa de 

[kkus ;ksX; ekuk tkrk gSA 

2- m".kdfVcaèkh; ?kkl ds eSnkuksa dks vkerkSj 

ij lokuk dgk tkrk gS vkSj 'kq"d fuEu 

v{kka'kksa esa çeq[k çdkj ds ouLifr vkoj.k dk 

fuekZ.k djrs gSaA 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft, % 
¼,½ dsoy 1           ¼ch½ dsoy 2 

¼lh½ 1 vkSj 2 nksuksa     ¼Mh½ u rks 1 vkSj 2 

97- VªkaláweUl ds ckjs esa fuEufyf[kr esa 
ls dkSu lk@ls dFku lgh gS@gSa\ 
1- ;g çFkk mu {ks=ksa esa vke gS tgka tyok;q esa 

,d xaHkhj ekSle gksrk gS] tSls fd dM+kds dh 

lnÊA 

2- ikjxeu ;wjksi vkSj fgeky; ds igkM+h {ks=ksa 

esa gksrk gSA 

uhps fn, x, fodYiksa esa ls lgh dwV dk 
p;u dhft,% 
¼,½ dsoy 1  ¼ch½ dsoy 2 

¼lh½ 1 vkSj 2 nksuksa ¼Mh½ u rks 1 vkSj 2 

 



 

98.What is rearing of silk worms and 

obtaining silk from them called? 

[A] Apiculture 

[B] Vermiculture 

[C] Sericulture 

[D] Horticulture 

99.Which country is the only major 

exporter of raw silk in Europe? 

[A] Germany 

[B] France 

[C] Spain 

[D] Italy 

100.In what type of mining, minerals are 

just dug out of the rocks? 

[A] Shaft mining 

[B] Drilling 

[C] Open Cast mining 

[D] Quarrying 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

98- js'ke ds dhM+ksa dks ikyuk vkSj muls 
js'ke çkIr djuk D;k dgykrk gS\ 
¼,½ eèkqeD[kh ikyu 

¼ch½ oeÊdYpj 

¼lh½ js'ke mRiknu 

¼Mh½ ckxokuh 

99-;wjksi esa dPps js'ke dk ,dek= çeq[k 
fu;kZrd dkSu lk ns'k gS\ 
¼,½ teZuh  ¼ch½ Ýkal 

¼lh½ Lisu  ¼Mh½ bVyh 

100-fdl çdkj ds [kuu esa [kfutksa dks 
pêkuksa ls gh [kksnk tkrk gS\ 
¼,½ 'kk¶V [kuu 

¼ch½ fMªÇyx 

¼lh½ vksiu dkLV ekbÇux 

¼Mh½ mR[kuu 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


